

|                | Vendor Ranking |                         |             |                      |             | Page 1 of 1     |
|----------------|----------------|-------------------------|-------------|----------------------|-------------|-----------------|
| Letting:       | 03220321       | March 21, 2022 10:00 AM | Call Order  | : 001                | Contract:   | E3V80           |
| District:      | District 3     |                         | Counties:   | DIST/ST-WIDE,        | Fed Aid No  | : N/A           |
| Contract Time: | 12/31/22 CC    | MPLETION DATE           |             | GADSDEN              | Project(s): | 42215127226 (*) |
| Contract Desc: | MIDWAY OF      | PS MAINTENANCE - MOWIN  | G AND LITTE | ER REMOVAL (GADSDEN) |             |                 |

| Ran | nk Vendor                        | Bid Type   | Bid Status  | Total Bid             | Percent Of<br>Low Bid |
|-----|----------------------------------|------------|-------------|-----------------------|-----------------------|
| 1   | FLORIDA RIGHT OF WAY CORPORATION | Responsive | Winning bid | \$474,275 <u>.</u> 85 | 100.00%               |

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



## **Tabulation of Bids**

Page 1 of 3

| Letting:       | 03220321                 | March 21, 2022 | Call Order: | 001           | Contract:   | E3V80           |
|----------------|--------------------------|----------------|-------------|---------------|-------------|-----------------|
| District:      | District 3               |                | Counties:   | DIST/ST-WIDE, | Fed Aid No: | N/A             |
| Contract Time: | 12/31/22 COMPLETION DATE |                |             | GADSDEN       | Project(s): | 42215127226 (*) |

## Contract Descr: MIDWAY OPS MAINTENANCE - MOWING AND LITTER REMOVAL (GADSDEN)

The work under this Work Document-driven Contract in Gadsden County, consists of routine mowing of grassed/vegetated roadside areas in conjunction with the pickup, removal, and disposal of litter and debris. Mobilization and Maintenance of Traffic are incidental to the pay items listed.

| Line No / Item ID Alternate Item Description   | Quantity<br>Units | (1) FLORIDA RI<br>CORPOR |              |            |            |            |            |
|--|-------------------|--------------------------|--------------|------------|------------|------------|------------|
| ( ) indicates item is bid as Lump Sum          |                   | Unit Price               | Ext Amount   | Unit Price | Ext Amount | Unit Price | Ext Amount |
| SECTION: 0001 (I                               | LARGE MACH        | IINE MOWING (AC          |              |            |            |            |            |
| 0005 E107 1 1<br>LITTER REMOVAL                | 34,923.190<br>AC  | 7.00000                  | 244,462.33   |            |            |            |            |
| 0010 E107 2 1<br>MOWING (LARGE MACHINE)        | 4,503.520<br>AC   | 26.00000                 | 117,091.52   |            |            |            |            |
| 0015 E107 2 2<br>MOWING (SLOPE)                | 494.650<br>AC     | 160.00000                | 79,144.00    |            |            |            |            |
| 0020 E107 2 3<br>MOWING (INTERMEDIATE MACHINE) | 144.990<br>AC     | 160.00000                | 23,198.40    |            |            |            |            |
| 0025 E107 2 4<br>MOWING (SMALL MACHINE)        | 43.760<br>AC      | 160.00000                | 7,001.60     |            |            |            |            |
| 0030 E107 2 5<br>WEED CONTROL, MANUAL          | 33.780<br>AC      | 100.00000                | 3,378.00     |            |            |            |            |
| 0001 LARGE MACHINE Sec<br>MOWING (AC)          | tion Totals:      |                          | \$474,275.85 |            |            |            |            |



## Tabulation of Bids

Page 2 of 3

| Letting:                             | 03220321 | March 21, 202        | 2 <b>C</b> a | all Order: 001 |            | Contract:  | E3V80      |  |
|--------------------------------------|----------|----------------------|--------------|----------------|------------|------------|------------|--|
| Line No / Item<br>Item Descript      |          | te Quantity<br>Units |              | RIGHT OF WAY   |            |            |            |  |
| () indicates item is bid as Lump Sum |          | Unit Price           | Ext Amount   | Unit Price     | Ext Amount | Unit Price | Ext Amount |  |
| Contract Grand Totals:               |          |                      |              | \$474,275.85   |            |            |            |  |



|          |          |                                  | Tabulation of Bids  |   |       | Page 3 of 3 |
|----------|----------|----------------------------------|---|---|-------|-------------|
| Letting: | 03220321 | March 21, 2022                   | Call Order: 001   | Contract:                                       | E3V80 |             |
|          |          | 120.57(3), Flo<br>required by la | e to file a protest within the time presorida Statutes, or failure to post the b<br>w within the time allowed for filing a<br>oceedings under chapter 120, Floric | oond or other security<br>bond shall constitute |       |             |
|          |          |                                  |   |   |       |             |

NOTICE OF INTENT TO AWARD: AWARD AND EXECUTION CONTINGENT UPON BUDGET AVAILABILITY